Intermediate Algebra (B)
Review Tri B

Name ]QYN%W%Q« %Ey

Classperiod 1 2 3 4

¥ = —biVbZ-4ac

‘When given ax?+bx+c=0 then >

Quadratic Formula:

1. Solve the equation by factoring.  x?+4x—45=0

a. x=9x=5 =-9x=5 c.x=9x=-5 d x=-9,x=-5
(x+ DH-5)=0
Y9z A-5:=0
9 -9 te +6
= .9 X=5
2. Solve the equation by graphing. 2 +3x+2=0
a. x=2,x=1 b. x=-2,x= cx=2,x=-—1 =-1
mr .
2x% +16 =32

3. Solve the equation by using square roots.

“fls =0

) PO EYIPL
T 2 Ix|={g{Z «=-2{7
X' = 242

a.x=\/§,x=—@ @x=2\/§,x:—2\/7 C. x=42,x = —4/2

4. Find the value of b that makes the expression a perfect square trinomial. x% + bx + 36

LoD )
( 2 ~ALUA
X + oy o +50

X"+ 124 4+ Bl
k-

5. Find the value of ¢ that makes the expression a perfect square trinomial. x? + 16x + ¢

a. 4 b. 8 c. 256

3

8@ (x

} X 84+ 8x + &Y
X©+ oy + Y
i

3

4
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Quadratic Eonnuia: Whengiven  ax?+bx+c=0 then x = -_—b—ﬂ;j——ﬂ
6. Simplify the radical. V12x? {E‘ - \E;I‘; @
a. 12x2 b. 3x%2 ®2x2\/§ d. 4x23 = 2>
Yz -
xb= % EER
7. Simplify the radical. Vv—75
a. iV75 b. 5v3 @51’\/’5’ d. 3iV5
- 75 = s
53
8. Solve by using the quadratic formula. 4x? +4x =2 a= 4 w= " (‘i) 3 \g@j’fwm c{(y}(,@“_ - 4{:{*\@?
~7 = b= , F
N Y SR = b 2( FEAN R
Ix+dx-2=0 C=-2 J
= -4 ENF
g
—1+4V3 —
a. —1+2v3 b. —2++3 c. — = - +\3
2.
9. The discriminant tells us the
i. number of zero's. | ii. the number and type of solutions. iii. number of x-intercepts.
iv. where the quadratic crosses the x-axis. v. the solutions.
a. iandii b. iandiii c. ivandv @i , i, iii e. i, ii, iii, iv, v
10. If the discriminant is positive and a perfect squa.re then the roots are ?
a. Complex b. Real & Irrational @Réal & Rational
11. If the discriminant is positive and not a perfect square then the roots are ?
a. Complex ( eal & Irrational c. Real & Rational
12. If the discriminant is zero then the roots are ?

a. Compléx b. Real & Irrational @Real&Rational
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. . L —bVDE—4
Quadratic Formula: ‘When given ax?+bx+c=0 then x = %
. a
13. The graph to the right has how many solutions? S EE ];
Ty
a.one c. zero d. cannot determine s /
SN
VT
| "!

14. Match the graph to the value of the discriminant.

¥ .
AR it T
;
T ‘-“I[ \\ ¥ i A s 7= T 7
/ \ : '
- manf BERNAREL S
| = N ERENEESR'
I = fy T
i \i : / \
I i 5 r
T
,«»‘“‘M
a. Negative b. Positive c. Zero
15. If the discriminant is negative then the roots are ?

@Complex b. Real & Irrational c. Real & Rational

16. Calculate the discriminant to the equationy = 4x% —2x + 5

o=4 2
a. 84 b. 76 c. -84 b=-2 (2~ %O{%) =76
Cc=5
17. Simplify the expression. (x3)?
a. x> c. x? d. x ?@\N@( J(’@ o P o ex
%tZ$ (5}
d. x Rrowek of  Yowws

1x%5=9
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o : i ‘ —b+Vbi—4ac
Quadratic Formula: When given ax?+bx+c=0 - then x = '—""\2 2 =

19. Match the graph to the type and number of roots the equation would have.

a. 2 Real Numbers

Vi ]
| I
5 Real Number A

32 Real Numbers

{ b. 1 Real Number
t. 2 Complex Numbers \ ' / ] " ¢ 2 Complex Numbers
Ly T f
e
f \ 7
v T
/ -
A% i i [
\ i
v i i /
\\ v a. 2 Real Numbers \\ [I: ' Real Numbers
: : - |
b. 1 Real Number b. 1 Real Number
§Complex Numbers : i ¢. 2 Complex Numbers
-~ i ;
:
1 1
20. Simplify the expression. x3 - xs {?%CWGT of ?szfgﬂ
1 2 1 7 "% + .3? Tz *% T
a. x7 b. x7 C. x12 @xlz '

4
21. Simplify and rewrite in radical form. x2x5

a. Vx8 b. Vx8 c. Vx®

NN N R T ¢ Pwecs
22. Simplify and rewrite in radical form. (xaxS)2 =A X = K7 X PTQ‘S ;ﬁ b,; if‘i‘é’ il
=R e = 7 =g

O S S 4.7 2o
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x = —bvVbi—2ac

Quadratic Formula: ‘When given ax?+bx+c=0 then >
23. Graph the function y = vx — 4 + 1. What is the starting point? ¥
a (4,1) (b)) c. (-4,1) d. (-4,-1)
stacting X y ] >
peirnk —» &4 i )
5 N SRR SRR
| 3 f
10 345 __
24. What is the domain and range for the previous graph?
a. Domain: x > —4,Range:y > 1 @ Domain: x > 4, Range:y > 1
c. Domain: x = —4, Range: y = —1 d. Domain: x > —4, Range: y = —1
e. Domain: x = All Real Numbers, Range: y = All Real Numbers
25. Graph the function y = —23/x + 2 — 3. What is the inﬂeétion point? z
a. (2,3) b. (2, 3) @(-2,—3) d. (2,-3)
-0 | T =
infleckisn -5 - EEEEE \e\ IEE BEE
*?oh’ﬁr —% | -7 T
-1 -5
b - F T

26. What is the domain and range for the previous problem?

a. Domain: x = —2, Range: All Real Numbers

c. Domain: All Real Numbers, Range: y = —3
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b. Domain: x > —2, Range: y < —3

d. Domain:x < —2,Range:y < -3

e \Domain: x = All Real Numbers, Range: y = All Real Numbers



Qﬁadratic Fonnﬁla: - When given ax?+bx+c=0 ~ then x = ﬂg@
27. Graph the function y = x3 + x2 — 6x. What is the relative maximum?
a. (2,8 b. (2,8 1.78,821)  d. (-1.78,-8.21)
T s
o [
conbive o1 O i
moy —> | -1F3 g.z| e :fé :
0 0 T
Roekve R ~-4.0l -
2 0 ' '
28, What is the domain and range for the previous question? o h '
a. Domain: x = —2, Range:y = 8 b. Domain: x > —1.78, Range: y < 8.21
c. Domain: x < —2, Range: y = —8 d. Domain: x < —1.78, Range: y < —8.21
yDomain: x = All Real Numbers, Range: y = All Real Numbers
29. Graph the function y = —|x + 1| — 3. What is the vertex? Ay
a. (1,3) b (1,3) @-1,-3) d. (1,-3) ]
-5 -5 )
-7 -4 A A g
Vexrse _ \ -3
% -5 i
30. What is the domain and range for the previous problem?
a. Domain: x = —1, Range: All Real Numbers b. Domain: x = 1, Range: All Real Numbers
c. Domain: All Real Numbers, Range: y = —3 @Domain: All Real Numbers, Range: y < —3

e. Domain: x = All Real Numbers, Range: y = All Real Numbers
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g

. ~btvb2—4ac
ax?+bx+c=0 then x:T

Quadratic Formula: ‘When given

31. Simplify the expression. (4x3 —3x% +7) + (2x? — 5x% - 9)

Va3 —x? -2 b. 6x°—8x5—2 ¢ 6x3—8x2—-2  d. —4x°

tomboiny \\,‘M; s - "ﬁ(%w 55(% = = {"”}Lg
“3yt e 2ntE -
F4. g = -2
32. Simplify the expression. (4x3 —3x2 +7) — (3x2 —5x — 9)

a. 4x3> +5x + 16 b. 4x3 — 6x? - 5x+ 16

“cix® — 6x2 4 5%+ 16 d. 4x% — 6x2 + 5x — 2
) , _ T2 L gy 3
combine ke ferms . %g: Ox® = 9y )
~ Ry =3y ==l
oYX —-5%= S}
33. Find the product. (2x? — 4x + 3)(3x — 4) F--9=lb

6x3 —20x% +25x —12  b. 6x3 —4x? + 25x — 12 c. 5x3—20x2+25x—12 d. 11x?-12

(9')(3 “’S&ZWIZXZ *’E}_EZL Q}ri’}éﬂmkz

by~ 20%x% 125w~ 12
34. Divide. (x3 +8x2 +9x—18) + (x — 1)

a.x2+7x+2+;—f‘; b.x2+7x+2+;—fi @x2+9x+18 d. x2+9x+ 0
g o9 3
19
I 9 18 0
35. Divide. (x3 +3x? +4x —5) = (x + 3)
®x2+4+;—g b.x2+4+% c;x2+6x+22+;ﬁf§ d.x2+6x+22l+7Tl3
”’3“ 2 4 -5
-3 0 -2
\ 0O 4 -7
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Quadratic Formula: ‘When given

Vax2+bx+cv=0 ' ‘*thel;' x:,ﬂ_%{:;ﬁfff
§ {Oxz
36. Divide. (x3 +4x +16) +~ (x +2)
a.x+6+;% b. x2+2x+8+§5 c.x?+2x+8 (d)x? —2x+8
“Zll 0 4 v
Y -2 4 -1y
| -2 € O
o ot
37. Find all of the zeros of f(x) = 5x* — 24x* + 16
a. 2,-2, %, 2 b. 2,-2, 25,25 | ¢.2,-2, 1,-1 d. 2,-3, 22,20
5
Gogh.
_7 _
- J -0 z0 8 -lb gy
=L \}\5‘{’% 5 -10 -4 g 0 gxﬂz,,%”m
= 3
._;'Z;:i% -10 -4 ¥ §§Xa3\4
L 1w O0-%8 s
— . }‘){j = \‘5; - ,%.”.{%
s o -4 O E
Hx) = 5y* -4 Y= £2E
38. Find all of the zeros of f(x) = 2x3 + 23x% + 39x — 15 .5

2. 2,4 +T9,~4— VIS b, 2,708 2ol (o5 R o

d =5 =977 —9—77
2 2 L2 2 2 ’

-25)7 23 29 -5 5:.25
L -5 -45 15 h
72 K’ -b 0

$) = 18- Lo

=7 Y= = (%) £V Ry @(’ )

ol 70
Y * &x\z32
9 _
v = Terzl = - q+a2
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—b+vbi—4ac

Quadratic Formula: When given ax?+bx+c=0 then x = v
z
z 2)= Yy 3+ 5
39. Solve the equation 21 =4xz +5 -c -5 ol .
p z
a. x=2 b. x=4 c. x =42 /lo = éfx3 Z!ﬁﬁ{(X}g*’E}‘//
A
T, Y4
XYY
(1)
g=X
40. Solve the equation V2x2+51+1=0
O . \iz,jgg’—%%i *imO
b. x=-5 C. x=5x=-5 d. jno solution -1 -1
Z 0 Neo !
N2Esi)2ssl +1 =0
2=0 No/
s
41. Solve the equation algebraically |2x — 4] -7 = -1 Z = 2 .
2425
a.x=>5 b. x=-1 ®x=5,x=—1 d. no solution E\L\$5L
| |2x-4] - #= 7] 2v- = lo 202420y L
Chatk ?’ 3 Y +y Y=t 5L
eEr|-+= 12v-4] = b 2% =10 gg;;g
-1= 3 = 2 z Z
\ 24| -7 x=5 X=-]
,,.5 =y \//
42. Solve the equation graphically 5|9 — 3x| = 60
a.x=7 b. x=-1 ®x=7,x=—1 d. no solution -
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43. The population for rural towns in MN is represented by the equation P = 1.32x3 where x is the number of homes in

the town. If the population of a town is 825, how many homes are there?

a. 825 homes b. 10214 homes c. 5344 homes 1 25 homes
4 ,
315+ %Zx 3
Vi

37 B
el
125 = Y.
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